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\begin{equation}\label{eq:1}
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\AA, 1 [eqnformat=dots], 11
\abs, 6 [eqnformat=dotscirc], 12
alignx, 7,8 [egnformat=none], 13
amsmath, 2, 8 \equiv, 5

\arc, 8 \expectedvalue, 9
\BB, 1 [fleqgn], 12

\braket, 6 \frac, 2,6

\C, 1 gatherx, 7

\cap, 7 \geq, 6

\ccirc, 9 \geqq, 6

\cmpl, 9

\combination, 8 \homogeneous, §
)

\comma, 6 \iff, 7

\complement, 9 \ignchart, 4

\cong, 5 \Im, 9

\conj, 9 \inespread, 3
\conjugate, 9 \innerproduct, 3
\const, 4 [innerproductbracket], 3
\cup, 7 \inp, 3

\cvec, 2 \int, 3

\cveck, 2 \intersection, 7
[cvecbracket], 3 intothemath, 9
\defint, 4 \ntvl, 6

\degree, § \inverse, 9

\dint, 3 \invrs, 9
\displaystyle, 3 jonedumathsymbols, 1-5, 7
\dprod, 4, 5 \jpnsqrt, 2

\dsum, 4

\dx, 3 \keeqgndots, 11

\dy, 3 kocircnum, 1, 11

\dz, 3 koredumath, 1,2,4,5,7
ecases, / \leq, 6

\emptyset, 7 \leqq, 6

\eparen, 6 \1from, 7

[eqnformat], 1, 13 \limits, 4,5
[egnformat=circ], 10 \1to, 7

f =ci 12
[egnformat=circdots], [mathbb], 1,9



\mathbb, 1 \tikzcircnum, 11

\mathbf, 1,9 \triplet, 6
\matI, 8

\union, 7
\N, 1

\ndv, 3 \varsupersub, 9

\neconcave, 4 \varsupersubstep, 10

\neq, 5 \vec, 2
\notparallel, 5 \vert, 6
\NP, 1 1
\NZ, 1

\originalfrac, 2

\originalparallel, 5

\pair, 6
\parallel, 5
\pdv, 3
\permutation, 8
physics, 3
\prod, 4

\Q, 1
\quadruplet, 6

\R, 1

\Re, 9
\repeatedpermutation, 8
\reseteqn, 11

\rvec, 2

\rvecx, 2

[rvecbracket], 2

\seq, 4

\sequence, 4

\set, 7

\similar, 5
[similarsignfig], 1,5
[similarsignfont], 1
[similarsignfont=<font>],5
simul, 7

\sqrt, 2

\stdsupersub, 9

\sum, 4

\thrthrmatrix, 8
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